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(1) £x+36°+39°=90°
S lx=15°

(2) x4+ 40°+20°=90°
SoZx=30°
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(1) £x +24° +37°=90°
o Lx=29°

(2) £1x+38°4+21°=90°
So/x=31°




o3 A ABC 9] 4SO =t & o, zx o] 27|17

100 @15 ® 20° @ 25° ® 30°

AAOC oA 1OAC = /OCA , ZAOC+ /OAC+ /OCA = 180°
, LOCA = 35°
L/OAB + /OCA + zx = 90° , zx = 90° — 40° — 35° = 15°




o8 I8 A AABC = AB =AC, BD=BCo|1, /C =72 ¢
o, /x 9] 27]E?

A

Ac

@3 @3 @4  @ur O

B \

AABC £ ol sHidZgeolng
LABC =T72°

E ABCD & o5 ztgolnz
/CBD = 180° - 2 X 72° = 36°
CLx=T2°—36° = 36°




& JHoA AB = AC, CD = CE °o|t}. /EDC = 65° ¢ o,
(EFG 9] 3712

® 1y @18 @16 @i © 1680

CD = CE, /ECD = 180° — 65° X 2 = 50°
AB = AC, /B = /C = 50°
. LEFG = /B + /BDE = 50° + (180° - 65°) = 165°
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297} o] AB=AC = CD = DE ]2 /B = 20° & 1, /x
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O 70° @ 80° @ 90° @ 100° @120°

B

AZHR 9] 9JZte] A7) thE & Uit gomg
L(CAD = /ABC + /ACB = 40°
/ACD = 180° - (40° x 2) = 100°
/DCE = 20° +40° = 60°
/x=180°-60°=120°




10. th& a3 e FAZES ABCD A4 BE = DE, /BDE = /CDE
A off, zx o] 27]=7
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/BDE = /a 2}l 5}'H /BDE = /CDE = za ©]3l, /x = 2/a
ACDE 9] WjZt9] 32 o]-gstH
180° = £CDE + «DEC + /ECD

= /la+ 2/a + 90°

= 3Za + 90°
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AABC °JA

(BCA = 180° — (92° + 44°) = 44°

wt2ti] AABC £ o] 5H4tZtgo|22 AB = BC

T BD £ /ABC £ °|5E3l22 BD & AC 9] 30|58 A
o|t}.,

u}2kA] AD = CD ©]tt.
~AB+CD=(a-5)+(b+5=a+b
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12. I¥o|A AD = BD = BC °]1, x = 36° ¢ u], AABC & o|®
AZF Q1717
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/B = /C =72° 9|22 AABC £ AB = AC ¢l o] 584z
ojtt.




